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Exam Code Exam Date

Version Exam Time

Question No. 1

was the venue for the first Round Table Conference held in 1930.

A)New York B)London
C)Sydney D)Bangkok
E) Delhi

1930 &, UUH M G gl maifaid forar mar ur?

A= TR B)eiea
o) )Ecacd
E) feeett

Answer Key : B

Question No. 2
Raja Ravi Varma was famous in the field of
A)Music B) Literature
C)Dance D)Painting
E) Sculpture

Tt A awf fore & | uflig &2

A)aha B)dfed
C)Ta D) Rt
E) 71fcfenent

Answer Key : D

Question No. 3
The "Quit India Movement" is also knownas _______
A)Dandi March B) Sepoy Mutiny
C)Swadeshi Movement D)August Kranti
E) Non-cooperation Movement

A)eidl A B) furgt fasts
C) west srigter D) 3FTd ghict
E) Sr¥galT sficter

Answer Key : D

Question No. 4

Companies pay Corporation Tax on their-

:27-08-2022
:12:00 - 14:00



A)Investment B) Production

C)Sale proceeds D)Income
E) Expenditures

Hufar = TR TR R T T et @1

A) e B) 3cre
C) faeramm D)3
E)eoa

Answer Key : D

Question No. 5

What is the total geographical area of India?

A)32,87,263 sq.km B)45,87,368 sq.km
C)52,87,305 sq.km D)60,87,326 sq.km

E)90,87,326 sq.km

WRA &1 Tl HIMTAh Sthet foha=r 82

A)32,87,263 & forst B)45,87,368 aif faned
C)52,87,305 ot feret D)60,87,326 aif fopeft
E)90,87,326 aif fomeft

Answer Key : A

Question No. 6

In which country is the world's largest rhinoceros sanctuary located?

A)Sri Lanka B)Australia
C)North America D)South Africa
E) Malaysia

Ay =1 9@ =1 A1 envaRvg frg LT A fRa @ ?

A) =t et B) sifeeforar
C) 3t sRaAT D)feror kit
E) Htfran

Answer Key : D

Question No. 7

The state of ranks highest in literacy as per the 2011 census.
A)Tamilnadu B) Karnataka
C)Kerala D)Delhi

E) Bihar

2011 &l STUFT & JHR, ERATh AR A _____ IS ol U Jai<d gl

A)afeTg B)&Hfee
C)het D)feeeft



E)fer

Answer Key : C

Question No. 8

Which is the only hill station located in Rajasthan?

A)Jogimatti B) Paithal Mala
C)Mount Abu D)Wilson Hills
E) Maibang Hills

Ao § AT vepaT faet R -9 22

A)Sifiagr B) trret AT
C)HIST Mg, D) foeem feear

E) mrsa fRew

Answer Key : C

Question No. 9

The height of the peak Guru Shikhar is metres.

A)1682 B)1722
C)1576 D)1928
E)2012

AR A Fad ____ Hezdl

A)1682 B)1722
C)1576 D)1928

E)2012
Answer Key : B

Question No. 10

is the IATA code for Jaisalmer Airport.

A)BKB B)JSA
C)JDH D)MPA
E)BTM

SR QaRuld & fAU IATA wis 1 82

A)BKB B)JSA
C)JDH D)MPA
E)BTM

Answer Key : B

Question No. 11

Where is Nathmal Ki Haveli situated?

A)Jaipur
C)Jaisalmer
E) Sawai Madhopur

B) Sikar
D)Kota



YA hH gt el R 82

A)SATR B) #fiee
C) TR D)&ler
E) Targ AreigR

Answer Key : C

Question No. 12

is where Ratan Singh Palace is situated.

A)Jaipur B) Sikar
C)Jaisalmer D)Jodhpur
E) Chittorgarh

o+ g 9o =gl R 82

A)TEIR B) =

C) SaemR D)Sitergr

E) fiisme

Answer Key : E

Question No. 13
Jaisalmer was founded by-
A)Maharaja Umaid Singh B)Maharana Kumbha
C)Rawal Veer Singh D)Rana Sanga

E) Rawal Jaisal

FGARR Y TTuT fohaeh g1 R TS oft?

A)TERTST 39S g B) HERIOT ¥
C)aw IR &g D)RToT |
E) gt Siaa

Answer Key : E

Question No. 14

The fort with the second longest continuous wall in the world, after the Great Wall of China, is

A)Ranthambore Fort B) Gagron Fort
C) Taragarh Fort D)Kumbhalgarh Fort
E) Amer Fort

i i v ar & arg, fFa fret J gfan Y 7o a9 &6 ft dar @2

A)RUTHR T et B) PRI fehett
C)dRTE fret D) e fehett
E) 3R a1 fehet

Answer Key : D

Question No. 15




Where is the Government Archaeological Museum, complete with a collection of commodities excavated
from the Vagad region and operational since 1959, situated?

A)Dungarpur B)Bharatpur
C)Bikaner D)Udaipur
E) Jhunjhunu

anTs & @ IafAa awgeil & dug & Ty guf ofi 1959 & ulkare d @t gf, avardt qriaw dugrerd gl R fRa 82

AFRE B) g
C) &R D)3IaYR
BE)EIZL

Answer Key : A

Question No. 16

The Longewala War Memorial is situated in

A)Jaipur B) Bharatpur
C)Kota D)Jaisalmer
E) Jhunjhunu

aTeT g SRS Sel [ 8?

AT B) AR
C)@ter D) TR

E) 2=

Answer Key : D

Question No. 17
Which of the following is Bundi's earliest phase of painting?
A)Bundi Varnikabhanga B) Bundi Bhava
C)Bundi Pramanam D)Bundi Ragamala
E) Bundi Rupabheda

F=fafaa 7 @ wF-ar 96 fY Rssar o 99 uRfYs a=or §?

A) TS afoferrsim B)&&) W
C) &t vTUH DEREICH
E) &Y wusiar

Answer Key : D

Question No. 18
The prince of Kishangarh, Sawant Singh's most celebrated and outstanding artist, was
A)Shail Choyal B)Nihal Chand
C)Sahibdin D)Salma Arastu
E) Shree Lal Joshi

Hrdd &g & ga@ uRlig 3R IHE FATHR, fhe e & ISHaR HiF 9?



INEEEIDIE]
C)afgsd
E) sft oTet Sireft

Answer Key : B

Who was the father of Rani Padmavati?
A)Gandharvsena

C)Anikanga

E) Maha Naga

Tt gamraredt & far A 492
Ao

C) 3rfrehm

E) {1 A

Answer Key : A

B)fAgret <
D) TeHT 3RY]

Question No. 19

B)Chodaganga
D)Kalinga Magha

B)derim
D) &hfeiT HTE

Question No. 20

Who succeeded Rana Madan Singh as the Maharaja Rana of Jhalawar?

A)Rana Indrajit Singh
C)Rana Zalim Singh
E) Rana Harish Chandra Singh

B) Rana Chandrajit Singh
D)Rana Pirthvi Singh

HTATATS oh HERTSIT AT & FY | A0 7 &g & It diq a2

A)roT gesii g
C) o e &g
E) 10T g<ier <ig &g

Answer Key : D

Rani Charumati was the princess of
A)Kishangarh

C)Jodhpur

E) Kota

T areAfa Fgl h ISHERY oA?
A frerTe

C)SitergqR

E) et

Answer Key : A

Who succeeded Maharana Sajjan Singh?
A)Maharana Fateh Singh

B) 10T <zt f¥ig
D)3oT gedt Rig

Question No. 21

B)Jaipur
D)Udaipur

B)SaR
D)3eTR

Question No. 22

B)Maharana Sangram Singh I



C)Maharana Swaroop Singh D)Maharana Shambhu Singh
E) Maharana Bhopal Singh

HERIO ool g &1 STRITARR] Rl a41?

A)FERTUT thag &g B) #wgRIuT WU &g fg<da
C)HeRIUN W&y g D)#gRon 27 R
E) HgRIUT ofiuret &g

Answer Key : A

Question No. 23
In 1984, which of the following was established in Rajasthan?
A)Silkboard Development Corporation B) Agriculture Development Corporation
C)Agro Food Development Corporation D)Food and Beverage Development Corporation
E) Handloom Development Corporation

1984 #, fA=faf@a d @ ia-41, Torey= & wfe forar mar ar?

A) Rrepats faem B) ¥ foreara e
C) iy @re faara fm D)arer 3R U faerrg fm
E) suenen faarra famm

Answer Key : E

Question No. 24
is conferred with Padma Shri award 2022 for art.
A)Amir Khan B) Vashishth Tripathi
C)General Bipin Rawat (Posthumous) D)Rajinikanth
E) Ram Dayal Sharma

&, hetl & foIg 'u=T 2ft- 2022' @ A4 farar mar @1

A) srfiEm™ B) afrs Hrardt
C) SRt fafd= wraa (aRonRia) D)STtentd
E) I &aret <Hf

Answer Key : E

Question No. 25
Who wrote Annals and Antiquities of Rajasthan which is published by Magnum opus in 1829?
A)James Chadvik B)John Benni Quick
C)James Tod D)John Littleton
E) Robbert Clive

1829 ®, A7H 31UH ZRT UhTAT 'THed U2 TATFRIEST 31Tt IoA' il fha= farar ar?
A)Si=g Iefasm B) ST &t faes

C)Si=g il D)itH fereetest

E)fa¢ aerga



Answer Key : C

Question No. 26
Which sector was the fastest-growing sector and the largest contributor to Rajasthan's economy in 2020-
20217
A)Tertiary B) Primary
C)Secondary D)Both primary and secondary
E) Both secondary and tertiary

2020-2021 #, J5T=AT Y Srfeaawur & 9@ dsft € g arer 85 R Ja& 9371 aGNTEHehdl, Shi--T1 87 u1?

INGGIRED B)urufien
C)HArenfies D)urufies 3R areafiie, gt
E) meafies SR qfiae, it

Answer Key : A

Question No. 27
What is the scientific name of the Three-striped palm squirrel?
A)Funambulus palmarum B) Antelope cervicapra
C)Gazella bennettii D)Boselaphus tragocamelus
E) Canis lupus

H9-ardier gdeht i g 1 asfe am = @2

A) BTHIT UTeHTEH B) Udieity TRi¥ermu
C)TotedT ST D) SRy SMdaedd
E) Shfa9 «gus

Answer Key : A

Question No. 28
Ravanhatha is a type of ___.
A)Vehicle B) Tree
C)House D)Transport
E) Musical instrument

UAUIEAYT UF UFR & _____ 2|

A)aTed B)Us
C)=| D)uRegd
E) Tifta areri=

Answer Key : E

Question No. 29
___in Rajasthan is famous for umbrellas.
A)Falna B)Baran
C)Chomu D)Dhaulpur
E) Jaitaran



oy A, AEfaf@qa & @ Siq-ar @ sar & fag ufag 22

A) TTerT B)aRf
C)g D) efeTR
E) SaRor

Answer Key : A

Question No. 30

The most eminent painter B.G. Sharma belongs to

A)Rajasthan B) Telangana
C)Maharashtra D)Gujarat
E) Nagaland

agd vt s B.G. i, Frafaf@a # @ fora wrea @ wifaa &2

A) ST B) AT
C)erRTE D) Torrd
E) T8

Answer Key : A

Question No. 31

is also known as the ‘Tiger Man of India'.

A)Vishvendra Singh B) Swami Hari Singh
C)Kailash Sankhala D)Mukesh Bhargav
E) Rajendra Singh

frfafaa d @ fFa 'R & TR 49 & & A +f S SITar 82

A fad Rig B) @t &R g
C) a1 il D) Hehal W
RS EARH

Answer Key : C

Question No. 32

Snake catching is the profession of which tribe in Rajasthan?

A)Sahavia B) Kanjar
C)Kanwar D)Kalbelia
E) Santhals

ST & Q1T YehsT fohe ST=ToTIfa At 92 82

A)ggfaar B)&hsR
C)@har D) &hetatferar
E) dret

Answer Key : D

Question No. 33



The National Research Centre on Camel is situated in

A)Bundi B)Jaisalmer
C)Jodhpur D)Bikaner
E) Pali

AT B) SR
C)sitg D) R

E) drett

Answer Key : D

Question No. 34

The Abhaypura Dam is constructed on the river.
A)Mahanadi B)Bhimlat
C)Cauvery D)Vaigai
E) Krishna

YR Ty fFe T8 R 87

A)FEE B) +fteetd
C) & D)aTs

E) o

Answer Key : B

Question No. 35
Which 24 x 7 helpline for digital payments did the Reserve Bank of India (RBI) launch in March 2022 in
collaboration with NPCI?

A)SeethiSaathi B) SaathiHaathi
C)HumSaathi D)DigiSaathi
E) None of the options

YR Rerd e (RBI) 7 #=f 2022 # NPCI & wgat & fafStest e & fog wiF-3t 24 x 7 geuers g 6i?

A)diefrardy B) refigredt
C)gwareft D) fesiameft
E) faered & @ opls =gl

Answer Key : D

Question No. 36

The has launched the 'Donate-a-Pension' initiative in March 2022.
A)Ministry of Labour B) Ministry of Sports
C)Ministry of Defence D)Ministry of Railways

E) Ministry of Civil Aviation

A1 2022 #, fore daATera 7 'SHe-g-U ugd R Y 82



INECE: I B) & AT
C) & HaATera D) AT
E) AR Iga HATHT

Answer Key : A

Question No. 37

As of February 2022, which state tops solar electrification under the Saubhagya scheme?

A)Tripura B)Meghalaya
C)Rajasthan D)Manipur
E) Uttarakhand

TG GITT & dgd HRast 2022 dah, hIF-9T A9 AR fegdiavor 7 ofidf ur 82

A)fga B) Aurerd
C)RTrIT D)#forgR
E) tREs

Answer Key : C

Question No. 38
Who is the author of the book 'Dharam Judh', which received the Sahitya Akademi Award in 1992?
A)Baviji Chatur Singhji B) Dariyaviji
C)Arjun Deo Charan D)Malchand Tiwari
E) Sanwar Daiya

‘v & &I & da@a i ¢, Y 1992 7 aifger sraret greanR fAer ur?

A)dresit TR gt B) aRamast
C) 3rf & 0T D) HTeterg framet
E) iR ggan

Answer Key : C

Question No. 39
The poetic collection of Dariyaviji, a Rajasthani poet of the medieval era, is known as-
A)Moha Mardana B) Anyokti Panchasika
C)Vani D)Vidura Battisi
E) Niti Manjari

A e & Uoh AT i, sRaast F wraadug d®ad &l SI=T ST 81

A)Htg "&fT B) 3=tk Gafyent
C)aroft D) fagr sfeht
E) ifa dort

Answer Key : C

Question No. 40
Identify which popular National Park/Wild Life Sanctuary is in Rajasthan?
A)Ranthambore National Park B)Bannerghatta National Park



C)Sundarbans National Park D)Corbett National Park
E) Silent Valley National Park

ggaTH ok AT # -9 Al afta sa/aa sfta srvarvg g2

AR TR SEH B) sravuet TE S
C) gexa IEN e D)ahide IE &=
E) d13eie et AL e

Answer Key : A

Question No. 41

If 40 per cent of a number is 240, what is 5/6 of that number?

A)250 B) 400
C)500 D)600
E) 800

i foneft T a1 40 ufaera 240 €, 9t 39 =T 1 5/6 9T fohd=T 82

A)250 B) 400
C)500 D)600
E) 800

Answer Key : C

Question No. 42

One of the roots of the equation x2 - 6x + k = 0 is x = 2. Find the other root.

A)x =-1 B)x =-4
C)x=1 D)x=4
E)x=6

FHIHROT X2 - 6x + k = 0 T Tk JA X = 2 &1 TR JA AT hifAQI

A)x =-1 B)x =-4
C)x=1 D)x =4
E)x=6

Answer Key : D

Question No. 43

Find the selling price of an article, after allowing a 12% discount on the marked price of Rs.450.

A)Rs.580 B)Rs.270
C)Rs.440 D)Rs.396
E)Rs.512

%.450 & sifeha ga R 12% &Y Fe 37 & 15, o ax] o1 fasha goa 7 Fifig)
A)%.580 B)%.270

C)%.440 D)%.396

E)%.512



Answer Key : D

Question No. 44

Find the LCM of xy2z2, x?yz and x3y3z2.

A)xyz B) x2y?z2
C) x3y3z3 D) x3y3z2
E) x3y?z

xy22?, x2yz 3R x3y3z2 o1 wgad 9Hgad (LCM) iTa hifSigl

A)xyz B) x2y2z2
0)x3yz8 D)x3y322
E) x3y2z

Answer Key : D

Question No. 45
In a mixture of 60 litres of milk and water, the ratio of milk to water is 7 : 5. Find the quantity of water to be
mixed in order to make this ratio 1: 1.

A)10 litres B)12 litres
C)15 litres D)20 litres
E) 23 litres

g 3R urft & 60 ez fAsror &, gy 3k ur=it &1 ST 7 : 5 81 39 31Ut &t 1 : 1 F91 & forg, Aeg s+ ae =t i
AT 1 R

A)10 efiex B) 12 #fiex
C)15 = D)20 #fex
E) 23 dflex

Answer Key : A

Question No. 46

Two consecutive compressions or two consecutive rarefactions are separated by a distance called-

A)Wave velocity B) Wavelength

C) Amplitude D)Frequency

E) Full length

&l shATTd Tt a1 &) shATTa faRer (rarefactions) &Y ATHeh &3t @ 3renT foham sirar @1
A)TET HT AT B) ¥ &

C) 3™ D) gt

E) qof ofarg

Answer Key : B

Question No. 47
force acts on an object perpendicular to the surface.
A)Mechanical B) Spring
C)Thrust D)Magnetic



E) Electrostatic

Hag & dead his a5 TR, g rd AT 2l

A)Tifs B)faim
C)wvi< (1) D) garchta
E) setagiefech

Answer Key : C

Question No. 48

What colour do universal indicators attain by the action of alkalis?

A)Blue B)Red
C)Green D)Yellow
E) Orange

&R (alkalis) <Y forar @ G ifiers Tadaen, =-aT a1 U et &2

INEIEI B)fTe
C)gx D) dterT
E) Araft

Answer Key : A

Question No. 49

Identify the organic compound ‘chloroform' among these.

A)CHCl3 B)CCly
C)CH,4 D)C2He
E) CeHs

g9 @ s e 'TaRini Y uga= i)

A)CHCl3 B)CCl,
C)CHy D)CzHe
E) CeHe

Answer Key : A

Question No. 50

Rats have pairs of chromosomes.

A)23 B)21
C)22 D)24
E)25

T Ao & _____ i gl &

A)23 B)21
C)22 D)24
E)25

Answer Key : B



Question No. 51
Heat developed in a conductor is proportional to the square of-
A)Power B)Resistance
C)Current D) Temperature

E) Inductance

foreft areter & Iau o1 & it & THTguTe gidt 81

A)TTeR B) ufaRter
C)urT D)dTgH
E) IRehca

Answer Key : C

Question No. 52
Heat in a conductor is produced upon passing electric current due to-
A)Reactance B) Impedance
C)Capacitance D)Resistance

E) Elastance

fRrega a1 & yenfaa g7 =, & TIoig I foredt TTeter A SoA1 SAF gl g1
A)ufaera (Ruaes) B) ufcaer (sefisw)
C) e (FafdeT) D) ufaRter

E) s

Answer Key : D

Question No. 53

Which of the following is a primary cell?

A)Lead-acid B) Mercury-oxide
C)Lithium-ion D)Nickel-cadmium
E) Nickel-iron

Frafaf@a 7 @ a9-a1 g mrafas 8« &2

INEERYEK B) HerRf-aiferarss
C)fafdgm-smam D) fRaera-chsfim
E) fRaerdt-Sma=a

Answer Key : B

Question No. 54
Permeability is the reciprocal of-
A)Reluctivity B) Susceptibility
C) Permittivity D)Conductivity
E) Resistivity

ureTRrar (ufdfefafed) @ agera &1



A)ufasfaar (afrfad) B) guTRIeT
C) ferggasfierar (wfafefad) DEIECT]
E) ufaRierehar

Answer Key : A

Question No. 55

Two capacitors of 4 pF each are connected in series. Their total capacitance is-

A)2 pF B)4 pF
C)8 pF D)16 pF
E) 20 pF

U 4 pF & 3 dutfe (Fafle) fofisra § 2 gg &1 37 Fer urlRar sira Mgl

A)2 pF B)4 pF
C)8 pF D)16 pF
E) 20 pF

Answer Key : A

Question No. 56
If the flux of a DC motor approaches zero, its speed will approach-
A) Infinity B)Zero
C) A stable value nearer to rated speed D)Unity
E) Either zero or unity

gfe DC AYeR &1 FeTerT YT deh Ugd SITdT @, af 3qeht 7Y T g S
A) 3= B) =

)z i & eidIh Uah AR AF D)gf~ér

E) ar at g an gfdt

Answer Key : A

Question No. 57
In case of the delta-star connection of a three-phase transformer, primary winding is connected in-
A)Series B)Parallel
C)Star D)Delta
E) All of the options

9-%s 9t THEIR & IRT-ER FARA F A d, yufRw aEfEn__ dg@ @i &
A)TRS B) GHMIR

C)&R D)3

E) fornedt & @ gaft

Answer Key : D

Question No. 58
Which of the following is NOT normally used in the AC distribution system?
A)Three-phase four-wire system B) Three-phase three-wire system



C)Single-phase three-wire system D)Single-phase four-wire system
E) Single-phase two-wire system

AC faa=ur yorrett &, amm=aa: R=fafaq d @ foraent suatr =gl fhar sirar &2

A)T-ThST IR-AR Yottt B) fiH-thet fi1-aR goTret
C) fETer-thet diF-ar woTrett D) f&Ter-theT IR-aR WoTTett
E) f&Tet-thet g1-arR HoTTett

Answer Key : D

Question No. 59
The fuel used in nuclear power plants is-
A)lsotopes of uranium B) Crude oil
C)Liquified hydrogen D)Methane
E) Petroleum

TR St @asr A Sugiv forar T arer $a= gl

A) Qe & e B) &t de
C)&fad grsgleH D)t
E) dciferam

Answer Key : A

Question No. 60

The insulating material used between commutator segments is-

A)Varnish B)Mica
C)Empire cloth D)Film paper
E) Graphite

FREER WHe & g ug faegaty= annft -t 82

A)arffar B) HTgeht
C) THIRR At D) fthes TR
E) dwhrse

Answer Key : B

Question No. 61

Which of the following is/are the part(s) of a hammer?

A)Cheek B)Eyehole
C)Handle D)AIl of the options
E) Peen

Aafafaa & @ w9-a1 va g2 &1 o R /a2

A= (Cheek) B) smSget

C)gsa D) farenedt & & Taft
E) 41 (Peen)



Answer Key : D

Question No. 62

The material used in split rings is-

A)Gold B) Copper
C)lron D)Aluminium
E) Plastic

e fmdrmgwoad g1

AT B)disT

C) 3t D) gt
E) =@

Answer Key : B

Question No. 63

A rough value for the internal resistance of the human body is-

A)300-1000 Q B)10-150 Q
€)5-9Q D)1-2Q
E) 180-250 Q

AFd R & 3ridafRes ufaRty & fog ges &1-907 (rough) a9 _____ &1

A)300-1000 Q B)10-150 Q
)5-90 D)1-20Q
E)180-250 Q

Answer Key : A

Question No. 64
A spelter used in brazing is commonly made (up) of-
A)Copper-base alloys and silver-base alloys B)Rosin-base alloys and lead-base alloys
C)Lead sulphide D)Zinc chloride
E) Barium chloride

A SR g WeR, am=a: ST g gl

A) PR3 s emg ok Ricer-s Ay arg B)ifor-a fAer g ik ds-aw gy arg
C)Is HehIss ) EEEEINES

S ERCEESINES

Answer Key : A

Question No. 65
A resistance of 5 Q is connected in series with four resistances each of 1 Q connected in parallel. What will
be the equivalent resistance of the circuit?
A)4.25Q B)5.25 Q
C)6.25Q D)7.25Q
E)8.75Q



uFIR # 93 gQ U 1 0 & 9r ufartet & ary 5 0 &1 e ufaty s & siter siar g1 afdhe @ auges ufort aar
ghm?

A)4.25Q B)5.25 Q
€)6.250 D)7.25Q
E)8.750Q

Answer Key : B

Question No. 66

Transformer ratings are usually expressed in terms of-

A)Volts B) Amperes
C)Watts D)Volt-amperes
E) Farads

SRR e 6t amTa:, Y = & srfrea forar ST 21
A)atee B) vefteR

C)are D) dtee-TriiaR

E) s

Answer Key : D

Question No. 67
Expand TRS in electrical wiring.
A)Tough Rubber Steel B) Tough Resistant Steel
C) Tough Rubber Sheathed D)Tough Resistant Sheathed
E) Tough Resistant Sheet

goifaeanet arafr &, TRS a1 guf w0 o/ 82

A)TH TR €T B)Twh e Wie
C)Th R efieg D)t IRV 2fies
E) e R offe

Answer Key : C

Question No. 68
Which of the following capacitors is/are used as a tuned circuit capacitor?
A)Paper capacitor B) Electrolytic capacitor
C) Ceramic capacitor D)Polystyrene capacitor
E) All of the options

FrafafEa 7 @ o9-@ Fuffier o1 sugh g afdhe Fufder $i ave fvar sman 82

A) TR Huffiex B) TelaIcifeeh dhufliex
C) R ufdiex D) uTelieeaRa Hufdex
E) faeredt & @ Toft

Answer Key : D



Question No. 69
Which of the following is a type of variable resistor which is used to control the flow of electric current by
manually increasing or decreasing its resistance?

A)Rheostat B) Transistor
C)Motor D)Transformer
E) Inductor

Aafaf@a d§ @ F-a1, g R o1 aRkadafia ufoRius 8, Rae sughn fRega arT & arg ot sas afekty @@t
AYIHA FU A FETh T geTeh Fafa @ & forg forar sman 82

A fRae B)giforeex
C)#teR D) i awhiFR
E) IReh

Answer Key : A

Question No. 70
The armature core of a DC generator is laminated to-
A)lInsulate the core B)Reduce eddy current loss
C)Reduce mass D)Provide a passage for cooling air
E) Reduce hysteresis loss

DC SRR & IR &R &Y, _______ & g afde forar sman @1

A)FR &l sgee B B) Ugl i< & BT oY ol &t

C) &eaHT &l & et D)3Et gaT & forg wer ANt e e
E) R et &1 ot vt e

Answer Key : B

Question No. 71
An ideal op-amp has-
A)Infinite open-loop gain B) Infinite input impedance
C) Zero output impedance D)Infinite bandwidth
E) All of the options

Uah 3fTesf SR Ui R &, gl g1

A) 3 3u-T T4 (fed) B) 31 gqe ufdamen
C) [ 3M13cye ufcramen D) 3rd defagy
E) faeredi & & Toft

Answer Key : E

Question No. 72
In P-type semiconductors, the impurity atoms are-
A)Pentavalent elements B) Trivalent elements
C)Octavalent elements D)Hexavalent elements

E) Nanovalent elements



&S P-UhR o Sfefarerenl d, S1YGAT URHTI] g gl

A)derdele aa B) freiatse d
C) SifrTade aa D) geRTaele dea
E) AHideie aa

Answer Key : B

Question No. 73
A tuned circuit consists of-
A)Two conductors B) Two capacitors
C)Inductors and capacitors D)Two resistors
E) Two diodes

Ueh &S dfche # anfaa ga &l

A)Tl ITeiah B) <Y HeutRa
C)IReh 3R Terfea D)at ufcRteren
E)al smits

Answer Key : C

Question No. 74
Which of these is/are CORRECT about the stepper motor?
A)lt is driven by a pulse signal B) It is a brushless, synchronous electric motor
C)lt is also known as stepping motor D)t provides controllable speed
E) All of the options

T @ F-97/4 RWR Aler & aR 7 98t 8/8?

A)TE Teh U el gRT Satferd gl 8| B) g ek s121 Xfed, Jedehtiereh fagld Hiex 81
C)38 QU Atex & 719 § off I ST &1 D)7g fAd=vitg nfa vem @t 21
E) faerei & @ Toft

Answer Key : E

Question No. 75
Calculate the frequency of the AC voltage for a 10-pole AC generator rotating at 1200 RPM.
A)120 cycles per second B) 110 cycles per second
C)100 cycles per second D)50 cycles per second
E) 60 cycles per second

1200 RPM TR guf & a1t 10-Uted AC STIReR & g AC aieRst &t sigf &Y o &6l

A)120 =ik ufa Qehs B)110 dsh ufd Thg
C) 100 =sh ufa ¥ehs D) 50 =ik Ul ¥ehs
E) 60 sk Uf Tchs

Answer Key : C

Question No. 76

Which of these is responsible for the control of water flow in the penstock of hydropower plants?



A)Powerhouse B) Sluice
C)Surge tank D)Reservoir
E)Hole

STet el 99 (§T33t UTeR Wiie) & U-iveieh # Siet vag & fAusr & fog 394 9 ol Simter 82

INESEIECIERG ) B) STegR (R39)
C)ast ¥ D) S (ReRamR)
E) giet

Answer Key : B

Question No. 77
A solar collector works by converting solar energy into-
A)Radiations B)Electrical energy directly
C) Thermal energy D)Chemical energy
E) Mechanical energy

Teh GIeR shetere?, OR Soif ol _____ & gRafeda sk & et &1

A)fafesor B) <ftet ferereitar St
C) yHer Fatt D)rarafieh It
E) Tifes St

Answer Key : C

Question No. 78

Which of the following instruments measures temperature remotely?

A)Piezometer B)Manometer
C)Pyrometer D)Gyrometer
E) Tachometer

FAafafEa 7 @ wia-a1 Jueor R & Hdu d (remotely) ATIHT i AT 8?2

A)diieR B) &-irfiex
C)ursRiHieR D)STgHieR
E) &epiHteR

Answer Key : C

Question No. 79
The total number of strands in concentrically stranded cables with total annular space filled with strands of
uniform diameter is given by-
(where N - number of strands and n - number of layers)
A)N = 3n(n+1)+1 B)N = 3n+1
C)N = 2n(n+1)+1 D)N = 4n(n+1)+1
E)N = 6n+1



THTAM A & R F W Fd FSATRR AT & ATY AHhIshdIgdeh (concentrically) & g Fael d ¥€gd & et
Her frad grT § s @2
(STEf N - ¥3u & de ik n - dad & T )

A)N = 3n(n+1)+1 B)N = 3n+1
C)N = 2n(n+1)+1 D)N = 4n(n+1)+1
E)N = 6n+1

Answer Key : A

Question No. 80
Which of the following cells has a high EMF?
A)Daniel cell B) Edison cell
C)Leclanche cell D)Cadmium cell
E) Lead acid cell

frafafea 7 @ frg O« J S=a EMF glar &2

A)2fATa (Daniel) B)ufeT 9t
C)tert-a ¥t D)&hsfooy It
E) st s Tt

Answer Key : E

Question No. 81
Wave winding is employed in a DC machine of-
A)High current and low voltage rating B)Low current and high voltage rating
C)High current and high voltage rating D)Low current and low voltage rating
E) All of the options

a amefE & DC waf & Praifor fam s 21

AT ahte SR o et e B) et @z ok 7S aeder A
C)eré e iR T et e D) et e iR &t et 3T
E) frarechi & & Toft

Answer Key : B

Question No. 82

Joule's law states that the specific internal energy of a gas depends only on-

A)Pressure B) Volume

C) Temperature D)Both pressure and volume
E) Mass

Sie o e hgar g o el Am R Re siaRe st daa Rk a=dt gl
A)gETa B) emaa=

C)draH= D)zaTa 3R 3mara, gt

E) gegqm

Answer Key : C



Alternator works on the principle of-
A)Electro-magnetic induction
C)Mutual induction

E) Conservation of mass

e & Rigia R &rf awar 81
A) saaer-dmfees tRor

C) 11— ROy

E) SeHHT <hl TR&T0T

Answer Key : A

The joint is replaced by a wire nut.
A)Aerial tap

C)Rat-tail

E) Britannia

i3 &Y Qe aTaR e GRT 95 ot e 31
A)TRae &g

C)¥ced (Rat-tail)

E) fererfaan

Answer Key : C

Which of these is a passive component?
A)DIAC

C) Transistor

E)SCR

9 @ pi=-a1 Afehy e 22
A)saras (DIAC)

C)ziforeR

E) SCR

Answer Key : D

Which quantity can be measured by a CRO?
A)Frequency

C)Resistance

E) Conductivity

CRO ZRr, forg AT <l AT9T ST JehdT 87

Question No. 83

B) Self-induction

D)Conservation of energy

B) T@-URur
D) it TRET

Question No. 84

B) Plain tap
D)Married

B)wH &u
D)aRs

Question No. 85

B)MOSFET
D)Capacitor

B)MOSFET
D) &ufdex

Question No. 86

B)Inductance
D)Form factor



A)smgf B) WRehcd
C)uferte D) therex
E) =TeTehdt

Answer Key : A

Question No. 87
What is the function of the conservator in a transformer?
A)Prevents moisture entry B) Transfers heat to atmosphere
C)Releases internal pressure D)Aids in contraction and expansion of oil
E) Regulates the output voltage

SIqTHR # dhotdexr o1 o i giar g?

A)TH & UAL Pl AhT B B) ™1 o aTgHEH H RAFIdRd T gl
C) tidfRen gaiTar et H<h ol 8| D)<l & Tgpa 3R faear H ggraar e |
E) 3M3eYe aieds ont fafd et 81

Answer Key : D

Question No. 88

What is the name of the DC motor?

L+
Eq ap

DC SUPPLY
Eg Az l
4 L-
A) B) )
DC shunt motor DC series motor
¢) DC differential compound D) DC cumulative compound
motor motor

B Short shunt DC motor

DC R T ATH #4727

L+
Eq ag

be argfF

Eg Az l
4 L-

AN DC eie AT B DCde A

) DC eI FaEs A °) D¢ Fppeife FFaEE A



B oif€ efz DC AT
Answer Key : A

Question No. 89
In first aid, a victim may require CPR, which stands for-
A)Cardio-Pulmonary Resuscitation B) Common Practice Resuscitation
C)Cardio-Practice Resuscitation D)Calibrated Preemptive Response
E) Controlled Pressure Relief

wufAs IUAR A, fif3d &l CPR fY smazaehdr gt dahed! &, ST guf & a1 82

A) FifSa-uem=< Rafde™ (Resuscitation) B) sreeT Sfdew Rafdes=
C) ey -tfaew Rafdem D)fersids afeea Reig
E) thetcs URR Refits

Answer Key : A

Question No. 90
Which type of DC generator is used for the electroplating process?
A)Separately excited shunt generator B) Series generator
C)Differential compound generator D)Cumulative compound generator
E)Both differential and cumulative compound
generators

et ke & farg Rt SRR 3 DC St¥er ot T Fvam orrer &2
A) 31T TR 2T SRE B) ¥ SRex

C) R duTds SRER D) Rt S SRR
) Rt ofk e aaTde Sy, <A

Answer Key : A

Question No. 91
A four-pole dynamo, has 600 conductors in total and runs at an RPM of 1000. It is lap wound and its
flux/pole is 0.064 wb. Find the induced EMF.

A)160 V B)320 V
C)480V D)640 V
E)256 V

IR-Ute S # et 600 e gid g iR I8 1000 & RPM WR I« g1 9g U a19s & 3R FHh1 Teia/ale 0.064
wb &1 9Ra EMF 59 3|1

A)160 V B)320 V
C)480 V D)640 V
E)256 V

Answer Key : D

Question No. 92

One joule/coulomb is equal to-



A)1 volt
C)1 ohm
E) All of the options

Qeh Sfe/Feid ______ o SRR e 81
A)1 dlee

C)1 st

E) faereat & @ goft

Answer Key : A

Kirchhoff stated the law for-
A)Current

C)Inductance

E) Capacitance

foheaitas 3, & forg Ao aamam
A)URT

C)IR&

E) arfar

Answer Key : D

An inductor resists changes in-
A)Voltage

C)Resistance

E) Energy

U IRk # gfRad= o1 faRte ohear 81

A)aiers
C)uferiy
E) St

Answer Key : B

B)1 ampere
D)1 watt

B) 1 griaR

D)1 @

Question No. 93

B)Voltage
D)Both current and voltage

B) dteest
D) 1T 37R aleesT, &t

Question No. 94

B) Current
D)Capacitance

B) &RT
D) errfeat

Question No. 95

The open-circuit characteristic of DC generators is also known as a/an-

A)Internal characteristic
C) Total characteristic

E) External characteristic

B) No-load saturation characteristic

D)Performance characteristic

DC SRt <t siiu-afhe fagtwdr &t & T # off S SIar @1

A) SriaRes fasiwar
C) gt faiwar

B)-afte Sqfay fastwar
D) ugsfH fatwar



E) gy fasivar

Answer Key : B

Question No. 96

The letter code for resistor tolerance value of £ 1% is-

A)F B)J
C)G D)M
E)K

t 1% fi ufeRius afgwa & Pg sigraAls ____ 81

A)F B)J
C)G D)M
E)K

Answer Key : A

Question No. 97
Which type of motor is used in the wet grinder?
A)PMDC motor B) Repulsion motor
C)Single-phase induction motor D) Three-phase synchronous motor
E) Both PMDC and repulsion motor

de urEse A fohg uepR Y Hier vt i fovar irar &7

A)PMDC #tex B) Ruesm Ater
C) FivTet-that g8arM HAleX D)<-th fiehie Atex
E) PMDC Hex 3R Ruesr Hiez, gt

Answer Key : C

Question No. 98

Tesla is a unit of-

A)Field strength B)Inductance
C)Magnetic flux density D)Flux
E) Capacitance

X fimgfed

A) & <l dTehd B) R
C) I T v D) Felery
E) enfar

Answer Key : C

Question No. 99
What is the unit of permeance?
A)Ampere - turns B) Weber/ampere turns
C)Ampere turns/weber D)Weber/m?
E) Ampere/m?



IR ht gfe T 82

A)THRR - &= B) der/qriiR o=t
C)TrfRR e=i/daR D)dsR/m?
E) grfiar/m?

Answer Key : B

Question No. 100

The torque developed in a three-phase induction motor is proportional to . (where V is an applied

voltage)

A)1/V B)V
C)V3 D)V?
E)1/V?

A-=RoT URor Aler A e e frads sgurfae 82

(STet V ey it € gt @)

A)1/V B)V
Cc)v3 D)V2
E)1/V2

Answer Key : D

Question No. 101
Which method is adopted to start a single-phase induction motor?
A)Split-phase method B)Varying supply voltage
C)Reversal of input supply terminals D)Reversal of running coil connection
E) Inductor-start method

ferret thet =M AleR &l Wi A & AT - fAfd sros et &2

A) fere-tht fafd B) GredT-SdT ateesT STy
C)3Y9e 3MYfef et et Ishur D)3 hise e I ISHATT
E) tRep-TeTé fafdy

Answer Key : A

Question No. 102
Which single-phase motor is employed with the field tapping speed control method?
A)Universal motor B) Shaded-pole motor
C)Capacitor start induction run motor D) Capacitor start capacitor run motor
E) Stepper motor

ez 2t iz dhglet fafd & ary snla-df Rrer-ter Ater FrifSra 6 st &2

A)gfadia diex B) figs-Utel Atexr
C)Hufler wré g™ AR D) iR wré Ffder T At
E) ®WR Al

Answer Key : A



Question No. 103
In three socket pins, which pin is thicker?
A)Live line pin B)Earth line pin
C)Neutral line pin D)Either live line pin or earth line pin
E) None of the options

=1 dfdhe o &, svla-ar fUe oifes Ater giar 82

INGIECKIES RG] B) 3ref o1s fue
C) =gt «neA fum D)aT at o1sa T U a1 31ef ofre oA
E) fachedi & @ ais el

Answer Key : B

Question No. 104

The RMS voltage of a sawtooth waveform can be obtained by multiplying peak voltage values by-

A)1 B)1/v2
C)1/V3 D)1/3
E)1/2

RTEA THR=T & RMS aieest &l tieh aieest Al & & Tum oheeh AT foRa S Skt g1

A1 B)1/v2
C)1/v3 D)1/3
E)1/2

Answer Key : C

Question No. 105
What is the full form of OFAF in the context of transformers?
A)Qil Fire Air Fire B) Odour Free Air Foilers
C)0il Forced Air Forced D)Off Fringes And Fillers
E) Oxygen Full Acetylene Full

SR & Tg¥f & OFAF ot guf &0 o1 g7

A) T3 ThIRR TR TR B) 3fleiR ThY TR thigerd
C) 3ifsel hite TR B D) 3ifwh oty Us foheret
E) siferfiem gt gffeet= ger

Answer Key : C

Question No. 106

The magnetic susceptibility of ferromagnetic material gives-

A)Large positive value B)Zero value
C)Small positive value D)Negative value
E) Unit value

Hearhra garef ft gEdT gmiar 3R 2



A)TT eFTHS A B) [ A
C) BteT gTH® A D)3k UTTcHeh HIF

E) gfie &1 A=

Answer Key : A

Question No. 107
Which of the following magnetic materials has anti parallel aligned magnetic moments with unequal
magnitudes?
A)Diamagnetic materials B) Paramagnetic materials
C)Ferromagnetic materials D)Ferrimagnetic materials

E) Antiferromagnetic materials

Frafaf@a 7 @ fra dada gerd & srawm alRaror & ary afaas=R () @Rf@q dadra aide g &2

A)ufajsehia uere B) &rAfeen geref
C) htfmfees garef D) thR#Afees garef
E) G&-thAmfees aref

Answer Key : D

Question No. 108
What is the full form of LPSV in the context of lamps?
A)Low Pressure Sodium Vapour B) Longitudinal Pressure Silicon Vapour
C)Lever Pin Silicon Vibrator D)Lost Pressure Solution Vapour
E) Low Pressure Solution Vanes

&g & HgH 7 LPSV &1 guf ®u ram @2

A IR Tifgay qwR B) @iifiregfemer DR Rferefq dur
C)<fiaR o faferera argsier D)@ TR TG R

E) i IR iR a1

Answer Key : A

Question No. 109
What is the name of the resistor whose resistance decreases with increasing incident light intensity?
A)Varistors B) Sensistors
C) Thermistors D)Light Dependent Resistors (LDR)
E) Magnetic Dependent Resistors (MDR)

39 ufaRteer o1 aam A & e ufaty smafaa werrer Y diear g & a1y gedr @2

A)aRed B) 3fa%ex (Sensistors)
C) ufifeex D)wise fedde e (LDR)
E) &fees fedde IR¥=wd (MDR)

Answer Key : D

Question No. 110

Concealed wiring is-



A)Safe from humidity B) Economical
C)Easy to install D)Easily customisable
E) All of the options

FHeaafi___ gdftdl

A) 3T § gRiga B) fohmrarcit
C) eI & | &= D) ST ¥ Sk arg
E) faeredt & @ Toft

Answer Key : A

Question No. 111
Why is a moving iron instrument equipped with a non-uniform scale?
A)Deflecting force is directly proportional to the time B)Deflecting force is inversely proportional to the
current
C)Deflecting force is directly proportional to the D)Deflecting force is inversely proportional to the
square of the current square of the current
E) Deflecting force is inversely proportional to the
time

HfeRT SRR 4o 31-THH AT @ A9 =l g &2

A) R e, Trgd & WY FHTUT giar 8l B) fagiftd a1, 4T & sgehATgUTCt 8T 81
C) fagiftra s, a1 & ot & T FwrguTdh glar 1 D) faaifta a1, 4T & ol & GehATguTe giaT 8l
E) faeifia a1, 2189 & ehHTIuTd T 81

Answer Key : C

Question No. 112

In resistor colour coding, which number represents the green colour?

A)2 B)3
C)4 D)5
E)6

yfaRlereh ek HifST A hF A T&=ar g a1 v ufafafde et &2

A)2 B)3
C)4 D)5
E)6

Answer Key : D

Question No. 113
In four band resistors, the fourth band is used to indicate-
A)Significant digits B)Multiplier
C)Tolerance D) Temperature coefficient
E) All of the options



IR d< ufadeenl &, S ds wr syt <R 9 &= o forg forar smar @1

A)FgaYgul Sieht B)TUTh
C)afgsugar D) dT9HT T[uTich
E) faeredi & & Toft

Answer Key : C

Question No. 114
Give the colour code for this five-band resistor: 521 Q * 1%.
A)Grey, red, orange, yellow, grey B) Green, white, orange, yellow, white
C)Violet, silver, orange, black, violet D)Green, red, brown, black, brown
E) Yellow, violet, blue, brown, green

39 Uig-ds ufalyss & Ay srer ahls &: 521 Q £ 1%.

A) D, are, A, die, & B) &1, g, A, ditelT, Tthe
C) e, TtEy, Ay, re, AT D) &1, ST, 3T, ST, 30

E) e, s, e, o, 8

Answer Key : D

Question No. 115
Which of the following use(s) L series type MCB’s?
A)Geysers B) Locomotives
C)Halogen lamps D)Air conditioners
E) Machine tool

fAfafaa d @ si9-a1 L #i¥st ersa MCB <A1 SUaiT &hedr &7

A)TieR B) sfiehimifea
C) &lte D) @R &R
E)asf gt

Answer Key : A

Question No. 116

What will happen to the value of resistance if length of the conductor is increased?

A)Remains the same B)Increases
C)Decreases D) Infinity
E) Zero

gfe aretes Y dard To1 & S at ufaRty & w1 OR Fn v g2n?

A)agl gm B)g&m
C)=dm D) 3rd
E)

Answer Key : B

Question No. 117

Which is a non-conventional energy source?



A)Wind B) Petroleum

C)Natural gas D)Diesel
E) Coal

I-91 Teh TR-URUReh SHell Jid 8?

A)ue B) ugiferas
C)urepfaas D)3eta

E) et

Answer Key : A

Question No. 118
Which is the main purpose of boiler in a steam power station?
A)Super heats the steam B)Heats feed water and air
C)Converts water into steam D)Liberates the heat from burnt fuel
E) Supplies hot air to super heater

I UTeR R # S1geR ol & I 1 8?

A) T @ gUR 7T AT B B) this aTex (urt) 3fR gar &t i e 81
C)urft el ra # uRafid sear 81 D)STet gY Se & T et H<h e B
E) guR &1z ot 7 garr Y 3mygfcf e g1

Answer Key : C

Question No. 119
The peripheral distance between two sides of a coil, measured in terms of the number of armature slots
between them is called-
A)Pole pitch B) Coil pitch
C)Back pitch D)Front pitch
E) Resultant pitch

Ueh higet < &t yeTsil & i Y aRefa gft, S 39 fig smfR wile fr e d w oA AT smar g, ____ sgare 81

A)uia fu= B)erisd fura
C)a fug D)the fo=a
E) Retee= foa

Answer Key : B

Question No. 120
A guy wire installed from the top of a pole to the top of an adjacent pole to remove the strain from the line
conductors is called-
A)Terminal guy B)Line guy
C)Span guy D)Head guy
E) Stub guy



T3 hededl @ a9 Bl ¥ A & g g aie & 2 & gar s oier & ofif @ wifa e a™ ar (guy wire) &t

—___hgT ST gl

A)fifae mE (Terminal guy) B) <18+ S (Line guy)
C)¥H g (Span guy) D)gg s (Head guy)
E) @& s (Stub guy)

Answer Key : C

Question No. 121
What is the value of resistivity of copper at 20° C?
A)3.21x107 Om B)2.65x 10 Qm
C)6.4x 102 Qm D)1.64 x 10 Qm
E)1.68 x 108 Om

20° C R diat St ufatererdr 1 A fora=r gar &2

A)3.21x 107 Qm B)2.65x 10° Qm
C)6.4x 102 Om D)1.64 x 10 Qm
E)1.68 x 108 Qm

Answer Key : E

Question No. 122

How many junctions are there in an NPN transistor?

A)One B) Two
C)Three D)Four
E) Five

NPN gifSieeR # foha=t siaeM giad 82

A)TH B)at
C)d= D)aR
E)ufa

Answer Key : B

Question No. 123

The equation ofthe OR gate is given by-

A) B)

Y=A.B Y=A+B

0) D)

Y=A-B Y=A/B



E)

Y=A®DB

OR e FT THERUT FaF garr far smar 22

A) B)
Y=A.B Y=A+B
C) D)
Y=A_B Y=A/B
E)
Y=A®B

Answer Key : B

Question No. 124
What is/are the cause(s) of noise in a hair dryer?
A)Improper mounting B) Improper fitting of the impeller
C)Warped impeller D)Loose parts in the blower compartment
E) All of the options

W IR | AR 1/ T HROT /8?2

A)srgfRa Arsfe B) 3wer i srgfaa foefem
C)faepa (Warped) 3o D)sA3R HHUTEHE | et gof
E) fareredt & @ gaft

Answer Key : E

Question No. 125
Which of the following is a component of a ceiling fan?
A)Capacitor B)DIAC
C)MOSFET D)Thermostat
E) Zener diode

ffafaa & @ s difeln &4 @1 ga gesn 82
A)TeRa B)DIAC



C)MOSFET D) vHfRe
E) SR s/t
Answer Key : A

Question No. 126

The below symbol represents which of the following gates?

1

A AND ® OR
9 NOR D) NoT
5 NAND

#rr o T g meataiee ¥ 9 9 & gfafaftes s 22

1

A AND ® OR
9 NOR D NoT
5 NAND

Answer Key : A

Question No. 127

Which of the following is known as the outer frame in DC machines?

A)Yoke B) Armature core
C) Commutator D)Brushes
E) Shaft

f=fafaa & @ fFa DC a2fi=t & args tha & &u d ST ST 82
ATt B) 3THTR &R
C)hrIeR D)siaT

E) 2



Answer Key : A

Question No. 128

Identify the type of winding as per BIS 4718-1975.

o— Y Y Y __,
E1 E2
A) Armature winding with B) Compensating winding
two terminals with two terminals
¢) Shunt excitation winding D) Commutating winding with
with two terminals two terminals

F) Series excitation winding
with two terminals

BIS 4718-1975% ]8R AEI3T & FHR & g

OMO
= E2
)BT ST & | N B) & efAarell & @rer Ffcramrr
CIEI R (Compensating) aTsfEar
o ar i & Ty o D) & effelt & mry wEgefear
)& ST & | spEer
) oA arsfEe

Answer Key : C

Question No. 129

Identify the type of generator given in the below figure.

] LOAD




A B .
) Shunt generator ) Series generator

c) Separately excited p) Long shunt compound
generator generator

) Short shunt compound
generator

A BT # BT 71T 39T F TR T 98T S

A gz FeRET ®) e e
O sremr & 3T ST D) et ofe FuTsE ST
B ome of HuTSE IATET

Answer Key : B

Question No. 130

Which of the following is an non-contact method of measuring the speed in RPM of a rotating shaft?

A)Revolution counter B) Tachometer
C) Stroboscopic method D)Either the revolution counter or tachometer
E) Dynamometer

gofa amae & RPM # 7ifer Araa & forg, f F @ opi-+ft Az-duss fafer @2

A)FTIIH FRR B) &R
C)EIateeniftes fafer D)3 it e hiex AT ehiiex
E) srmmtdiex

Answer Key : C

Question No. 131
The generator may lose its residual magnetism due to-
A)lts being kept idle for a long time B) A heavy short circuit
C)Heavy overloading D)lts being subjected to too much heat
E) All of the options

SReR 31U SrafAe gaohed ol foherdh SROT @ AehaT 87



A)Tg &id gug 9o fAfsra gar g B) 1Y &1TE fehe
C) WY SftaRatifeT D)7g Jga 3ifdreh i & e 8
E) faehedl & & weft
Answer Key : E
Question No. 132
A Prony brake arm is 0.5 m in length. The wing-nuts on the brake are tightened on the motor pulley, creating
a force of 980 N. What is the torque that is being developed by the motor?

A)192.6 Nm B)249 Nm
C)490 Nm D)720 Nm
E)820 Nm

ek U stk St 0.5 #Hiex & g1 sieh WR f-1ed &l #ier geft wR e far sirar g, 99 980N &1 a1 I0= giar 81
MR ZR1 fAerfaa forar s @1 &fch s @2

A)192.6 Nm B)249 Nm
C)490 Nm D)720 Nm
E)820 Nm

Answer Key : C

Question No. 133
The DC motor will NOT start, if there is-
A)Overload B) Excessive friction
C)No terminal voltage D)A frozen bearing
E) All of the options

gf &, aY DC #Hiex areg -1 ghfti

A) AR B) 3rcafden aefor
C)ahis ZfHaat aees gt D) thioT SafT
E) fachet & @ qoft

Answer Key : E

Question No. 134
Jogging (inching) controls are incorporated in-
A)Lathe machine controls B)Milling machine controls
C) Grinding machine controls D) Paper-cutting machines
E) All of the options

SitfiT (3fRi) dhgter @t # e fovam mar @1

INERENIEETa | B) fafei A2fi shgter
C) mEfET 7fF dhgter D)ehTTST hred i mfiA
E) fareredt & @ gaft

Answer Key : E

Question No. 135



Identify this symbol as per BIS.

Y

A Thermostat B) Isolator
© Plug and socket D) Star-delta starter
B Fuse

BIS & 3[R, 38 ¥eiieh (f&aer) &I wgantae|

-

A arifeee ®) smedieey
O oot 3ttt wike D) rerr-gwer TeRT
S g

Answer Key : B

Question No. 136
Which of the following statements is TRUE about the slip ring motor?
A)lts starting current is very high B) Its starting torque is very low

C)It requires a rotor resistance starter D)It does not require maintenance

E) It uses bars in the rotor

o fraieFaR d aftfRadd s o s aa §?

A)gHE! @IféT hie sgd e gidt & B) 3achT T1fén &fch agd oA et @
C)59dh oIy e UfaRiY Wik i SMasaehd 8t & D)3¥ IEREI i SATGIHhdT -Tal &
E) 7 Aex # IR T ST el &

Answer Key : C

Question No. 137
Which of the following statements is FALSE about the squirrel cage motor?
A)lts starting current is high B) It can be started by a DOL



C)lts starting torque is high D)It does not have slip rings
E) None of the options

SR 9ot AR & TR #, F=faf@a 4 @ Si9-a1 = 1ed 82

A)ETehT WITET e 3= gidT 81 B)3¥ DOL gRT wI< fRaT ST GehdT &
C) 39ehT W 2feh 3=d & D)zaH feery R 78 gt &1
E) foenedt & & alS w161

Answer Key : C

Question No. 138
Salient pole type alternators could be identified by-
A)Long axial length B) Low speed of operation
C) The smaller diameter D)Medium speed of operation
E) Either low or medium speed of operation

Yefide Uit (Salient pole) WehRR & 3teezex hY ugan fohdaeh gRT & 51T Jarell 82

A)Tisht sreft wiars B) Terrer &Y fe wifar
C) 31fdreh e (smaller) & D) TaTe cht Head T
E) Termer <t ar at fAe ar geoy nfq

Answer Key : E

Question No. 139

Two alternators must be connected in parallel in a circuit when the-

A)Power demand of the load circuit is greater than B)Power demand of the load circuit is lesser than the
the power output of a single alternator power output of a single alternator

C)Power demand of the load circuit is equal to the D)Input frequency of a single alternator is greater than
power output of a single alternator the output frequency of the load circuit

E) Input time of the load circuit is greater than the
output time of a single alternator

&} 3[eEReR okl Yeh Yfche & GuHiaR # SiteT SiAT =@y, Sia-
A)7te Tfche i urer ferts, RTer sieeier & Urer 3i¥eye & B) i dfche &t urer feris, R sieeer & urer emseye ¥

el gl 81 &9 gt 21

C) e afdhe &t urer fEnte, RivTer sieeeier & uTer aMeye & D) sieeeer &l gqe hiadsl, e afthe A smsege
SRTeR i<l B thierd et & et gt 1

E) @it fche T 34 997, RETel Sreeier & SM3eye 99g ¥
fk graT 81

Answer Key : A

Question No. 140
Which of the following methods is recommended for earthing the neutral of the alternator as per BIS 3043-
1966?
A)Solid earthing B) Resistance earthing
C)Reactance earthing D)Arc-suppression coil earthing



E) All of the options

BIS 3043-1966 & SIJHR, Heex & <gel aht 31l & fag FafafEa 7 @ fora fafd H RerRar 6 v 82

A) 3T 3rffr B) uforter aifefm
C)ufdera (Reactance) Sifefi D) 3TTeh-THiRT whiget Siff
E) faeredi & & Toft

Answer Key : E

Question No. 141

DOL starters are recommended to be used only up to squirrel cage induction motors.

A)2 hp B)5 hp

C)7.5hp D)10 hp

E)15hp

DOL wréH &t chaet ek <k fERe ot S=arM AieR! deh SuAlT & <h fRArwRer Y st g1
A)2 hp B)5 hp

C)7.5hp D)10 hp

E)15 hp

Answer Key : B

Question No. 142

One kilowatt is equal to hp.
A)1 B)1.34
C)1.89 D)2.12

E)2.5

Ueh fheilare ______ hp & sRIER glar 21

A1 B)1.34
C)1.89 D)2.12
E)2.5

Answer Key : B

Question No. 143

Ductility and malleability are poor in-

A)Mild steel B)Cast iron
C)Lead D)Tin

E) Copper

iR emaaadfigar A afamrglargi

A)TRH @I B) eheeit igt
C)drar D)

E) afsr

Answer Key : B



Question No. 144

The below warning sign indicates which of the following?

M Risk of electric shock 2 Risk of explosion
© Risk of laser beam D) Risk of fire

B) Risk of ionizing radiation

e R T ATt T Hed Been #F ¥ R safar 2

Nl & =es # SRE B et @1 f@w
O 3 &7 F7 SRH D) s a7 fRE
£) HTTAFT fafeRTor &1

T
Answer Key : C

Question No. 145

Identify the name of the tool given in the belowimage.

[ =m0 )

A) Tenon saw B) Firmer chisel
© Plumb bob ®) Mallet

® Raw plug tool



e fgw v R # o a1v g & A1\ wgariE

E) gt oo T

Answer Key : B

Question No. 146

Identify the name of the symbol given in the image.

A

M Socket outlet 2 Circuit breaker
© Two-way switch 2 Buzzer
B) Lamp

A fer 7w oy # R v g (Aser) & A3 F1 gg=ifav|

3

A gie 33 ®) afe 31
Of Frwr fea D) =
E)a‘.q.

Answer Key : D



Question No. 147

Identify the component name.

A . B . .
) Transistor ) Ceramiccapacitor
c . D . .
) Thermistor ) Electrolytic capacitor

B) Inductor

UTF F ATH F TEI

A aifereet B) Ryt werfee

O uffeex D) st i
2h-ren

Answer Key : A

Question No. 148

Calculate the electrical energy consumed by a 500 W lamp for 4 hours.

A)2.5 units B) 1.5 units
C)2 units D)20 units
E) 1.25 units

500 W &0 ZRT 4 2 & g @ud i 78 faega ot i ormm w3

A)2.5 gfAe B)1.53fe
C)2gfie D)20 gf¥e
E)1.253fe

Answer Key : C

Question No. 149



The following voltage drops are measured across each of three resistors in series: 5V, 8V, 12V. What is the

value of source voltage to which these resistors are connected?

A)15V B)25V
C)12V D)5V
E)20 V

FafafEa gl g &t sjaer & s ufeRtuet d | ude J Arar s g: 5V, 8V,12V1 |id aieest &1 714 o1 & f/as

2 e 2 §U 87
A)15V B)25V
C)12V D)5V
E)20V

Answer Key : B

Question No. 150
Carbon arc lamps were generally used in-
A)Vehicles B) Torchlights
C)Street lights D)Cinema projectors
E) Remote controls

HTEA 31Teh AU T WA SH=I: H forar strar ami

A)argt B) ¢reemmget
C)Tsa i st (¥ @mge) D) &= Histeresd
E) Refle dhglat

Answer Key : D



